
SAP ABAP table VTB_SI {Hedges (HEADER)}

VTB_SI

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

KLART [CHAR (4)]

WTRANS [CUKY (5)]

WBASIS [CUKY (5)]

WLWAERS [CUKY (5)]

WFWAERS [CUKY (5)]

SKALIDB [CHAR (2)]

SKALIDT [CHAR (2)]

OBJNR [CHAR (22)]

AT72

MANDT [CLNT (3)]

KLART [CHAR (4)]

 VTB_SI-KLART = AT72-KLART 
0..N

1

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 VTB_SI-OBJNR = ONR00-OBJNR 
0..N

{0,1}

T000

MANDT [CLNT (3)]
 VTB_SI-MANDT = T000-MANDT 

0..N

1
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTB_SI-BUKRS = T001-BUKRS 

0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTB_SI-WBASIS = TCURC-WAERS 

0..N
1

 VTB_SI-WFWAERS = TCURC-WAERS 

0..N

1

 VTB_SI-WLWAERS = TCURC-WAERS 

0..N

1

 VTB_SI-WTRANS = TCURC-WAERS 0..N
1

TFACD

IDENT [CHAR (2)]

 VTB_SI-SKALIDB = TFACD-IDENT 

0..N

{0,1}

 VTB_SI-SKALIDT = TFACD-IDENT 

0..N

{0,1}


